ab(x = unbunte Rezeptorerregunger , W

31 ey g a=1,00, b=0,50

ProzeRW  F1 050
= - O

L ,=28cd/n?
L

Fap(X)= unbunte Rezeptorerregunger , W
e

ol
X, b | ear]
3T Fan(X) = X/a g la a=1,00, b=1,00

Prozel3 W F:1_1

L ,=28cd/n?
L

X, =log[L/L ]

(%)= unbunte Rezeptorerregunger , W

o/
X b—
3 Fanl) = Xilay gxifa a=1,00, b=1,00

prozeRW  F11

L ,=28cd/n?
L

%, =log[L/L ]

0% )= unbunte Rezeptorerregunger

eXla
L ab(x) b /a+e—x la

W, +W

31 a=1,00, b=1,00

ProzeR W
Prozel} +W

-_'_-‘h - ... .-

L ,=28cd/n?
L

4 x =log[L/L,]

%, =log[L/L ]

hov20-da




